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Average Rate of Change with Context

' ( “On average, from a to b; the y topic is increasing/decreasing by AROC y unitm

O

1. The distance needed to stop a car after applying the brakes varies directly with the square of
the car’s speed. The table below shows stopping distances for various speeds.

~ Determine the average rate of change in braking distance, in ft/mph, between one car traveling at
50 mph and one traveling at 70 mph. Explain what this rate of change means as it relates to

“braking distance. N o .
Speed (mph) | 10 20 30 | 40 | 50\ 60 |70 |-

Distance (ff) | 625 | 25 [56.25| 100- }156.25| 225 |i306.25
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2. The average monthly high temperature in Buffalo, in degrees Fahrenheit, can be modeled by
the function B(f) = 25.29sin{0.4895t— 1.9752) + 55.2874, where ¢ is the month number (Janvary = 1).
State, to the nearest tenth, the average monthly rate olgmperature change between August and

November. Explain its meaning in the given contexi.
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'3 The graph below represents the parabolic path of a ball kicked by ayoung child. Find the -
average rate of change from 3 to 6 seconds. Explain its meaning in the context of the problem.
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4, The populatmn P(t), of a town increased according to the function P(f)=12 000(1 03) ;

where t is the number of years since 2000, Find the average rate of change from ¢t =10 to £=20 -

rounding to the nearest integer, Explain its meaning in the COntext‘of the problem.™ =
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" 5. A manager wanted to analyz%lg online shoe salés for his business. He eated a graph to

P(Y) {(Number of Pairs of Shoes Sold
in the Pravious Houn)

model the data, as shown below. Determine the average rate of change between the sixth and
fourteenth hours, and explain what it means in the context of the problem. S
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6. The table below shows the number of hours of daylight on the first day of each monthin
Rochester, NY. Given the data, what is the average rate of change in hours of daylight per month
fromJ anuary Lst to Apnl 1st? Interpret what this means in the context of the problem
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